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=X E ( 600 mm) 24.00 m 12.00 m K#ZDIP
= & ( 500 mm) 18.00 m 12.00 m KIEDIP
=X E ( 450 mm) 27.00 m 20.00 m K#ZDIP

B = & ( 400 mm) 6.00 m 0.00 m AJEDIP
=X E ( 350 mm) 6.00 m 0.00 m K#ZDIP
= & ( 300 mm) 30.00 m 18.00 m KIEDIP

55 =X E ( 250 mm) 5.00 m 0.00 m K#ZDIP
= & ( 200 mm) 9.00 m 0.00 m KIEDIP
=X E ( 150 mm) 30.00 m 25.00 m K#ZDIP
E & ( 50 mm) m m
K i ( 600 mm) 3 & 1 A KIEDIP
Ak i ( 450 mm) 5 f& 3 A K#EDIP

a [ i ( 400 mm) 4 {8 0 & KIEDIP
Ak i ( 350 mm) 2 A 0 1A K#EDIP
K i ( 300 mm) 5 & 3 1 KIEDIP

$
Ak i ( 250 mm) 5 f& 2 1A K#DIP
K i ( 200 mm) 7 fE 4 fH KIEDIP
= Ak i ( 150 mm) 2 A 0 1A K#DIP
K i ( 100 mm) 4 fH 2 1A KIEDIP
Ak i ( 75 mm) 5 f& 2 1A K#DIP
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